Lecture 10 i Spass, linen indtptadonce & bass  (tview & pactee  of chagte, T 5o fur)

O Midfym ths Fday' 50 w2 puctee sidlon amibble

Erxnise V2R3, v, vy u3 EV noa-z0m

?
() Span(vy, vz v3) = JpanC s, vy Vyruy)
v w
Vituy Uz z (Yru)-y, —7 alyuntie prof

S (D To get atith,

Teprovt = we wanld nted € and 2
(ant % provt)

we bt w g spaalv,uy v3), e went 1 € span( v, ve, vytus) ; Jag? 3t wzalytalv,t a5 (13) ¥
—_——

Jag € R st wzqv+ 6034 azvy
givea
Can e chosse a) o‘l’lul»:’ on ai, 51 ¥ helds
we  have QY + AL+ aybyT (n,'-' A3l).v, 4+ 6%y # q,‘uj , =(:l:)
{K.M.k, CTENS ca bags of U, B el have o,z (@,'tas) | 8z 62 | ays Gy
we choe' (a:a, , af:a; oz a- a,
Tf fui3 meta bhoss Thes Sey, v 3 Ld, widh Fy v, 5

le. 3 € span(v,v2) => LHs = RS = Spaal v,va)

Problem:  givta sabspace U SV:R3 | fnd s basis,

Lotar
basis & span, equathes

Ug:s SVEV: Fof whe £1RE DR e (r,0¥5)i—> f0) : (3% 45,4 %)

Sa(™: The ~np §: R->R s .‘-.'ﬁaﬂ({r o pejectia onte o l.‘nt[
Fust, £(loa) : 320, ~ (o9 ¢ Up, S Ugfv
To fud o bass o Vg, it suftias To fod u,v, €Vg st v, ot (.M../j iadeptadest,
L_’ El\nu
CKA—flg i X, ‘o, 4\(,:13
\’"'I"J’A)
chos Ya:l ¥3:4
NS \ lonen, |‘~llp¢na‘l.ﬁ‘(
chosre
L. Clample!. ¢ :0 “'731,413 Y'Y v # #V;
Vaz (),9,-3)
-3

chosse %, ) ¥3:
®
(U2 Sy 5 b

Problecn Lot vz REX), Food o buss of wtz §p®ERII: plodeo P(—/):a}

Sl A by P Vi3 §haatd L xS Cafatly )

Uis Gt sud by 3egh i pro)zo &> ageo
pl:o &> Z“-f: °

P(-I}:a &> Z()'ai o

ixo



6'1' plcl 4(’ X'¢ v
X 40 I-x ¢u

Ty xX-Y3 €U

Tweal The hass fe v % gve & bass o, U

Personnl  wiitenps
A bass Fr V3 et il xS Lnhtly ey
U is Cud sad by 3e9h t pro)zo =3 agco
plzo & Zas:o
pldlza &> Z(D'ais0
ivo
te. O=x(x9)(X#)(ap +a,%x% agx’+ ot G, X" -..)

: ap (X3-%) +a, (x¥-¥) ta, (x5-x3) 4. ta, (x¥"-%"") 4.,

e lenows that e basy  for U e+ a,x 4y Xt Fagxdre 4 ax v s Sy, ... 5
Repluce  x" witt (x¥"-xn11) yields,

o basy for Uz gy (Poxdda (X0 xD vt ap(X3Mx )4 $GP%), (x¥-xY), .., (’x”’”— ) . §



